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Joining of Sentences /

Objectives :

ﬁ At the end of this lesson you will be able to :
®m  know how to join sentences.
m  identify the structures of different sentences.
m  describe how to divide a sentence.
u solve the exercise.

@3 Lesson-4 Rifeg Pattern-93 Sentence o9 & Structure &R SR | T SEREAT
fifeg frew et s 1'% Sentence-F join-s@ 936 Sentence-y e F7re 7@ | 7oy
YRRIRRFeT Structure 8 RNt ST F417 24 ¢

|1 . So-------- that (4o - czr)\

a) N I very @3 *fF TS so
b) =% Adjective / adverb.
c) @ (.) full stop @ that
d) o s IR |

(i) The man is very fat. He can not move.
Ans: The man is so fat that he can not move.
(i) Rana was a very honest boy. He could never tell a lie.
Ans. Rana was so honest boy that he could never tell a lie.

2. Too ------- TO (I5/GOFmmeemmmmev )

T4 72 AR Subject «F ATF ©XT @ 77w ¢

(a) @ AT verb AT O A MG ERIET too FTe 263 | G=IST 2—IT AT AT (@I Ao
T 91 | verb oY AIRCT ¥ A verb @F Atd too e TA |

(b) @3 #ta Full stop Im fex to forete = |

() @7 *ta Sl AR verb (ATF *F I ™ /= ferdte =03 | fesiw aw@ verb & Past
tense A0 AfRTeT FF Present tense-a fte 23 |

(d) farr Sentence wa ¥gres sufficient, so, but, and, as ¥ o AW e 207 |
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TAIRe 8
a) The boy is very small. He cannot do the work.
Ans:- The boy is too small to do the work.
b) Jerry was very honest. He did not show any excuse.
Ans:- Jerry was too honest to show any excuse.

* 47 {5 AT Subject foF =7, w37 93 faaw 3

(a) S Sentence @ IS too AT ¥ TE sentence I T (F ARST 27 a0 +
(b) for ITT+

(c) T Sentence @3 Subject 3 Objective form IT +

d) to T+
(e) & verb (AF (I AT IGT (ST S sentence I subjcet F NOHFR @F pronoun
AT of BT 1)

Twiggd— Mr. Rahim is very honest. The villagers can not disobey him.

Ans. Mr. Rahim is too honest for the villagers to disobey.
TT- 47 8 too  @F 7 AT #TA (T article I0T 7 i GTF@ article T T Sentence 47 *Itae
Noun &3 7[t3 307 |

AR ¢
It is a very interesting matter. We can not overlook it.
Ans. It is too interesting a matter for us to overlook.

| 3. Present Participle (Verb + ing)

* wft qtem Subject @3 =0T 93 R ¢
a) eRW AFE Subject T AT |
b) T 3T A Verb @3 Present form @3 A ing (@17 F09 (A |
C) &N ACFI AP WL @K #F comma #te 71 |
d) Sy A Subject I W ERIGT &= AtFF Subject frdte 2@ |
e) 9T *F S Ay FoAfee ©itq forete 2ra ora fady A waTe and, so, then,
but = I fce =1 |

TriRE 8
1. Jerry sat by the fire. He told a series of lies.
Ans:- Sitting by the fire, Jerry told a series of lies.
2. The old sailor left the marriage guest. He went away.
Ans:- Leaving the marriage guest, the old sailor went away.
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4. Because of / On account of (w31 )

* el i Sentence B &G @R A1FTE @2 S g
a) ¥R Because of e T3 |
b) Sentence €9 Subject & Possessive €S XA |

Subject Possessive Case
I My
She Her
They Their
He His
We Our
Della Della’s
Jerry Jerry’s
You Your

C) O I I AFTIF AHT Verb @3 e ing I& T |

d) € 7 qwy wg@  auxiliary verb it Oz am, is, are, was, were U ©f IW
7w @ B being fordte 7@ @3k AFT have, has, had 5w o am @ @ 2w having
et =@ |

e) 2% Sentence @3 IF WX 7104 comma #te 7@ W TS At wefRiss o s
A |

f) Joining F 7 (I IFA L@ so, as, then, but, yet 4T I fcs =7 |
TArRe ¢

1. I was weak. I could not work.

Ans: Because of my being weak, I could not work.

2. I was careful. I escaped the danger.

Ans:- Because of my being careful, I escaped the danger.

*  JRe S Sentence 2t AR 92 T ¢

(a) &= T fass Sentence 5 367 +

(b) because of T+

(c) = sentence 59 subject «3 possessive form I+
(d) < verb @3 I ing @MY sentence @I A T I |

Tnzzels Everybody loves Jasim. He is very honest.
Ans. Everybody loves Jasim because of his being very honest.

* e O sentence @3 ¥ICS T it AT there A O @2 T
(a) < A= sentence @3 7td Because of 301+

(b) T sentence €3 T verb @ °F (ATF (N AT~GIC+

(c) "% sentence & srf@ SO 3w |

Tniggels There was dense fog. They could not go out.
Ans. Because of dense fog, they could not go out.
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S. Not only --------- But also (v¢ =2 )

a) Not only --------- But also 7@ 46 IR0 I& Fa0e 20 T 7o 9T A0S e =07 |
o= ¢ TSl A @ w1 Word @ AItd &9 AT (2w (R 717 Word Fiee 23 @R
@3 »ita Not only forte 23 |

b) OF T AT AT IR A TS =J |

c) Not only @3 4¥ @ 7 Word frt zraee fasiw I @t @18 ¢ Word Im e
et But also foree =6 |

d) @7 3 fash IR I W TS 7 |
s At also, too, so, and, then, as well A o AW TS =07 |

TR ¢
730 A Subject 9% 20 ¢
1. They cursed him. They hung the dead albatross.
Ans:- They not only cursed him but also hung the dead albatross.
2. He rebuked me. He helped me too.
Ans:- He not only rebuked me but also helped me.

\6. Relative Pronoun (3t Noun 3t Pronoun &3 vrﬁazréwr)\

TeRess  Who, which, that, whose, who, what %1% Word @& Relative
Pronoun € 2@ | Relative Pronoun ficd Sentence I& 47 w3

a) e AHG TS ot forie 7 |
b) Sy aEm Subject @ TE R @ Subject IW @ @ e\ Who 391Te =03 |

c) fasim aw= Subject e 7, &, fére, e W Tonf @ @ Subject I fw @ ZoT
Which <=1ite 73 |

d) fasw A Subject W his, their, our, her ¥wifw AtE o= Ty aw e @ BT
Whose T =3 |

@S qerw Subject T T R o2 Who 11 |
TR ¢
1. I met a boy yesterday. He is my brother.
Ans:- Yesterday [ met a boy who is my brother.

fadiw arw Subject T4 3, &, fie @i v Which =)
1. The old sailor saw an albatross. It made the wind blow.
Ans:- The old sailor saw an albatross which made the wind blow.

@S qitew Subject T+ her, his, my, your, their zws3w Whose T3 |
1. I met a boy. His father is a teacher.
Ans:- [ met a boy whose father is a teacher.
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7. Since / As / Because / For (axg, si)

a) 72 FE Wy @ AWT e G T (R AW AR Qe e 2T 1w Since /
as IR WFCe 1 T e 21td | v because / for ARETS ICHA [CH 0T | GTFE
FIT BT TR0 AT AT ©f for /| because- @F A W @CS JA | ST AH FE B
TACE N ¢ as / Since +3T AT + FAT (,)+T T | AR 3T I FR AP T NI 3
ST T + as / since + T IF |

b) e I fadrw AF ¥ as, so, therefore, as a result, that is why, thus,
this is why, hence, then, % ©f 3% frts 26 |

TATRA 8

1. Jim was poor. That is why he could not buy a pen.
Ans:- As / Since Jim was poor, he could not buy a pen.

2. The prices of things were much higher. So the writer was startled.
Ans. The writer was startled for/because /as /since the prices of
things were much higher.

8. Infinitive (To +verb)/In Order to (wwv/wwer)

Verb -49 Present form- &9 STt 4o’ 6 Infinitive %f® 2@ | Infinitive @<t 96 <7 7@
a9 e gt 8

a) ST SR AT ICT | GFOR ST AFF I/ 2TE Infinitive (to+verb) / in order
to ICT | OF9F JCET Subject, auxiliary verb (must, can, many, shall, will, do,
did Te5i) I AT | AT IR A Sy @F™IT ¥/ Phrase (wish / intend / hope /
want / wanted +to, with this end, in view, for this / that purpose T®1ifn) argfe
M TR | 903 @ Negative 5% (not, never Tonfn) A o 4o’ -9 E I |

b) ©RF AT FT Verb- @ Present form- 7% qife S @ 20 |

C) Ty P /G AT AIFCT WoRGTE ICHA LS A0S XA |

d) ¥ @I @ Pronoun (it, them &¥fe) ST AT Object- & A= FaeT wdie @32
/7B AT o AW T |

T 3 AT TIRAT TAFT + to / in order to + TR EFHIF AT Subject IM + ICHT
auxiliary verb, wish / intend / want + to ¥e7ift A% IM + & Verb- @9 Present
form 43T ARE = |

Example :
(a) I have some duties. I must perform them.
Ans. I have some duties to perform.
(b) I shall never do it again, I am determined.
Ans. [ am determined never to do it again.
(c) The dog lay close to him. It wanted to find comfort there.
Ans. The dog lay close to him to / in order to find comfort there.
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9. In Spite of / Despite (srgs/afis)
a) «arF@ T ICH notwithstanding, still, but, yet, nevertheless 8@% BT AW T |

b) R 1y 7iow @fbre stge/afns giHdl I& AP, ©F 4% in spite of I071 But, yet @gf®
T JMFT ARCT ST CHS Ael In spite of 0T

c) In spite of ST T AT T ST 1T (T GF(6 FA1 () T |

d) In spite of-49 27 IJIX® AFHT Subject-4a9 Possessive form/case | @I=: He-
his, she-her, you-your, it-its, they-their @¥f® =1 ®@ &@ Noun Subject e
@3- Rahim, the girl, the porter &%f® *ta apostrophe (,) s @ = |

N.B: T3 A4 Subject 2if, aift, I, ~mid, SRRed, *[@w o dqofe 2 @ *w/*w AR

7@ $® 9B In spite of -aF #ItF 0T |

€) 7T ‘Be’ Verb (am, is, are, was, were 29f® I RO A50e)- 99 ARRCS being,
Verb “To Have’ (has, have, had @%f®) 4G @7 *A0e having 2 @& ¥ Verb

(love, dislike, kill, hate 29f%) 2@t Gerund-4 “fe® 2 W4 7 Verb- @9 Present
form @I ing’ & J |

(i = JF Subject & =T in spite of- ¥ AW Pronoun- 43 Possessive form IR
FA2 7«32 Noun- f60& <7 @ Subject F40® 20 |

N. B: Inspite of/ despite-«@3 7RI S5 TS TR IS T4 T | GCHF@E, 97 77 Subject-
«aF Possessive form (@ | OF7F 1 Verb Jeo I9x© am, is, are, was, have, has, had
ogfe AFCT M A @R Adjective AT ©f Noun-4 #ff® 73 | @ rich-riches, poor-
poverty, strong-strengh &%f® 2 | ©t3 (@ ¥ / ‘Doing’ verb A% @3 Present form-
GF Y ing’ & A |

%59 3 (i) In spite of + Subject- @3 Possessive form + being/having / verb+ing
(gerund)+ TGS AT & AT I *1 + T () + =5 IAH0 |

9dl, (i) In spite of + Subject-43 Possessive form + I Verb % AT am/is/
are/was / were / have/has / had Im + Adjective-99 Noun form / Verb + ing
(gerund) +TCES IR & ACHIA AIE * + 7 I |

Example :
(a) The old sailor killed a bird. Yet, he got relief.
Ans. In spite of his killing a bird, the old sailor got relief.

(b) He was unhappy. He had vast wealth.
Ans. He was unhappy in spite of his having vast wealth.

Or,He was unhappy in spite of his vast wealth.

(c) I was busy. Yet, I met him yesterday.
Ans. In spite of my being busy, I met him yeserday.
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10. Though / Although (frs/tgs)

1. (a) %o =ires R «7etE & F90e Conjunction el though/although J/Ee
] | GCF@ I I notwithstanding, still, yet, but, nevertheless 3@% IBCE
M T |

(b) =@ 6 ICH @B A AMS/ATES KRl & AT, ©F 7E2 although /though IT |
But, yet &%f® 23 CFy AT although /though ST ACH W I |

(c) Although/though IR SIC® I ST IIFF (*T G0 I (,) 97 |
A5 § ST AT + although/though +3T I7 |

92 T, Although / Though +3% IRFFHFAT (,) 4T I |

o2&, Although / Though + @ I ST @A (SIF+5 I |

Example:
(a) They will come. They have no car.
Ans. They will come though / although they have no car.
(b) It is difficult to explain. But it exists.
Ans. Although/Though it is difficult to explain, it exists.
(c) Her eyes were shining brilliantly. But her face had lost its colour.
Ans. Though her eyes were shining brilliantly, her face had lost its colour.

Exercise

[ am extremely tired. I cannot help him.

I was very young. I had not learned to say ‘no’ to a women.
He played very well. He got the prize.

They are very nice. They cannot be used.

The parcel is very heavy. It cannot be sent by post.

Jerry was very honest. He was liked by the authoress.

NS kb=

The load is very heavy. I cannot carry it.

Present Participle

I had finished my word. Then I left the room.

I answered. I thanked her.

The old sailor went away. He left the marriage guest.
The sun has set. We went outside.

The tea is very hot. I cannot drink it.

SOk

Della was slender. She mastered the art.
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PON= PN

PON=

—_

P

N =

Because of

He had experince. He was appointed Headmaster.
He behaved badly. He was punished.
I worked hard. I earned much money.
They played well. They won the prize.

Not only ---- but also
The lady ate caviare. She also drank coffee.
Jerry is honest. He is industrious too.
We are poor. We are also unwilling to work hard.
Foreign travel is pleasant. It is also instructive.

Relative Pronoun
Jerry had an imaginary mother. She lived in Mannvile.
I read David copperfield. It is a very interesting book.
She is a beautiful girl. Her sister is a nurse.
He is a teacher. | saw him writing.

Since / As

. God forgave the old saior. He showed love to all creatures.

Della sold her hair. She wanted to buy a gift for Jim.

Infinitive
People at school read books. They want to please their teacher.
We gain knowledge. We go to school.
He buys vegetables. He goes to market.
I shall never do it. I am determined.

In Spite of

The boy could not pass the examination. He was inattentive.

. The weather is very rough. We cannot go out.

There was cold weather. They could not go out.
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NoOaROD =

SOk b=

b A bR

sl

Answer key
(Too ------- To)

I am too tired to help him.

I was yoo young to have learned to say ‘no’ to a women.
He played too well to get the prize.

They are too nice to be used.

The parcel is too heavy to be sent by post.

Jerry was too honest to be liked by the authoress.

The load is too heavy for me to carry.

(Present Participle)
Having finished my word, I left the room.
I answered thanking her.
The old sailor went away leaving the marriage guest.
The sun having set, we went outside.
The tea being very hot, I cannot drink it.
Della being slender, mastered the art.

( Because of)
Because of his having experince, he was appointed Headmaster.
Because of his behaving badly, he was punished.
Because of my working hard, I earned much money.
Because of their playing well, they won the prize.

(Not only ---- but also)
The lady not ony ate caviare but also drank coffee.
Jerry is not only honest but also industrious.
We are not only poor but also unwilling to work hard.
Foreign travel is not only pleasant but also instructive.

(Relative Pronoun)
Jerry had an imaginary mother who lived in Mannvile.
I read David copperfield which is a very interesting book.
She is a beautiful girl whose sister is a nurse.
He is a teacher whom I saw writing.
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(Since)
1. God forgave the old saior since he showed love to all creatures.
2. Della sold her hair since she wanted to buy a gift for Jim.

(Infinitive)
People at school read books to please their teacher.
We go to school to gain knowledge.
He goes to market to buy vegetable.

PO

I am determined never to do it.

(In Spite of)
1. In spite of his being inattentive the boy could not pass the
examination.

2. In spite of the weather being very rough, we cannot go out.
3. In spite of cold weather, they could not go out.
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